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❚ *,+.-�/�0�1 0#2(3�/ -54 6(-87�9�:�/;4 -.< /�=�4 -><?<A@
❚ B�/�/ +.3#35C.0
9.D�4 -.< /�=E4 -.<?<(F�-.<E6A3.0#G.98:�/ 9
2"H 1 / 3�-
4 9598I�/ +.-�/�2(98:54 0�D 1 C.0#/ +.3�<E:>JK9.D
/ +.3�<?L�:.-8H 3.<"7.3�/ 2(3>35CNM�-8C.0OC8P

i nt  i =1;
i nt  sum=0;
whi l e( i <=n)  {

sum+=i * i ;
}
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❚ W�+.35H 3O1 <(-5C.9./ +.38H�4 9598I�=?9�C.< / H :.=?/;C.3.-8H 4 G
1 0538C�/ 1 =A-54E/ 9�/ +.3�2"+51 4 3
4 9>98I�/ +.-�/�G.98:
:.<?3
1 D
G.98:
6�C.9.2X/ +.-�/�/ +>3
7.9>0>G�9>DY/ +.3
4 9>98I�<E+.98:54 0
3�Z.3>=E:�/ 3#-�/;4 3>-.< /�98C.=A3�[8/ +.3#0>95\ 2"+51 4 3
4 9>98I8P

❚ F /;H 3>L�:51 H 3.<(-54 4�/ +.3�<?->J�3"]EI.-5H / <A^�-.<_/ +.3
2"+51 4 3
4 9598I
75:�/�/ +.3�=A98C.0�1 / 1 98C
1 <"C.9>/
=�+.3.=�6A3.0N:5C�/ 1 4�-�D / 35H�1 /�+>-.<(3�Z.3.=�:�/ 3.0
98C.=A3�P

do {
statements;

}  whi l e( condition) ;
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❚ BN2"+51 4 3
4 9>98I�=A-5C
7.3#J�-.053�/ 9
0>9#-8C�G�/ +51 C��
G.98:
C.3>3.0#D H 95J -
4 9>98I�-.<(=A-5C�-�059>\ 2"+51 4 3
4 9598I8P��Y9.2(3��.35H 	�7.9./ +�3�Z51 < /;1 C�/ +.3
4 -8C��8:>-��53
7.3.=A-5:.<?3#081 D D 38H 35C./�9�C.3.<(=A95J�3
1 C
+.-5C.0>G�-�/
0�1 D D 35H 35C�/�/ 1 J�3.<�P

❚ F DYG.98:
6�C.9>2 / +>-�/�-
4 9>9�I�<E+.9�:54 0
3�Z.3.=�:�/ 3�-./
4 3>-.< /�98C.=A3�/ +.3#059>\ 2"+51 4 3�< / H :.=?/ :5H 3�/ G>I51 =A-54 4 G
J�-56A3><_/ +.3
4 9
�81 =(-O7>1 /�3.-.<E1 35HY-5C>0#=�4 3>-5C.35H P
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❚ F C���
�
�/ +.3�D 98H�4 9>98I�<E1 J#I54 G�-54 4 9.2(<_G.98:�/ 9
=A95J#751 C.3
1 C51 / 1 -54 1 �A-�/ 1 98C�-5C.0N1 / 35H -�/ 1 98C
1 C�/ 9
/ +.3
7.-.<E1 ="4 9>98I�< / H :>= / :8H 38P
F /�+>-.<_/ +.3
D 984 4 9>2"1 C��
< G5C�/ -�Z8P

❚ F /;7.35+.-��.3.<�J#:.=�+
4 1 6A3�-�2"+51 4 3
4 9>9�I8P���98:
=A-5C�053.=�4 -8H 3��.-5H 1 -5754 3><"1 C�/ +.3
1 C51 / 1 -54 1 �A-�/ 1 9�C8P

f or ( initialization;  condition;  iterator)  {
statements;

}
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��� � �  �� !#"��$� %&� !# �' �)($* ����+&� !# �,  �-.� � ��* �)%/,0+/* "�1� !# 2( �)*  ���'3,  )+#")( "�� � %#4.� !# 2� %)� � � ")* � 5  )(
' ( �/-6� !# � �)%�7�� � � ��%&"/%�7.� !� &� �)%�7�� � � ��%&' ( �/-6� !� .� �  )( "#� ��( 89 !#"��3-& �"/%/,0� '
1 ��:&;<")%#�3� ��!#"�=  .-�:)* � � +/*   �>�+/(  /, , � ��%�,?� %&� !# /-61 ��:.!#"�=  �� �.,  )+#")( "��  &� !# )%;?� � !�, �)-& #� !)� %�4� )* ,  �8
❚
9 !# &� �)-&-&"&;<��( @ ,�"/,<")%&�)+# )( "�� ��(A� �.,  /+#")( "��   �>�+/(  /, , � ��%�, 8 9 !# �=#"/* :# ��/'A� !# �� �/-.+/*  #�   �>�+/(  /, , � ��%.� ,<� !#"��
�/'
� !# .* "/, �3, :)B# �>�+/(  /, , � �)%.� %� !# �� �)-&-&".,  /+�"/( "��  �7�* � , � 8
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❚ *,+51 4 3�G.98:
+.-)�.3�<?3>35C�/ +.3.<?3O1 <�J"G
3�Z.->J
I>4 3.<"7.3�D 98H 3�2(3#<A+>98:54 0#/ -56A3�-�=�4 9><?35H
4 95986�-�/�/ +.3
1 C.=EH 3>J�38C�/�� 
�
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❚ *,+.35C
I54 -.=A3>0O7.3.D 98H 3#-��.-5H 1 -5754 3�/ +.3
�.-5H 1 -5754 3O1 <(351 / +.35H�1 C.=�H 3.-><?3.0
98HY053.=�H 3>-.<?3.0
7�G�98C.3
7.3�D 98H 3�/ +.3�< / -�/ 35J�35C�/�3.Z�3>=�:�/ 3.<�P
F D
1 /;1 <(-�D / 35HY/ +.35C
1 /�+>-5I5I�38C.<(-�D / 38H�/ +.3
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❚ �Y9.2X2(3�2"1 4 4>4 9>986�-�/�<?95J�3#<?->J#I54 3�=A950>3
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-5C.0#2"+.-�/�/ +.3
H 384 -�/ 1 �.3�< / H 38C��>/ +.<(9.D�3.->=E+�-8H 38P
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